o
N
X
=
o
&
(=
N
X
=
o
&

<) [ A [
g L o r
AL R RCR SUTPPRTIRREPLRN FETRRS (VT SUTTR TR R Pt ST TR SR
P}
PS) H > C
v [ [
O.l__"'""'"""""""""""": """""""" Ol__ """""""""""""""""""""""""

T EEYEYe€ls T T,

...............................................

Rati
Rati

0.95!

0.95!

TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM TOoFT_STepZ Ttbar-pnaseI-Newgeom

—e— DQM_noCPE_step2_tthar-phasel-newgeom

—— DQM_cpeGenericTime_step2_ttbar-phasel-newgeom
—+— DOM_cpeTemplatedTime_step2_ttbar-phasel-newgeom

10 T T T T T — 100

E et
= 8_— ------------------------------------------------ = r : : : : :
A F A r : : : : :
B R LETTRTTETRCTPR TPPPL SRPRPR SRORRS e Ty A A i AR peeen
o F o | ' ' : : '
vooApT o o o v r : : : : :
U S SRS S s - [ e
OF g
E 40f------ P AR | P R AREEEEEE PRREEEES
S SN 3 : : : : :

B O A e
-6+ PR R PR feeeenns PR [ : : : : :

—8;_ """" """""""" 0-— """"""""""" ‘ """""""""
S o| PUPSPRNSS KPP EPUPUPUS S SRS SO [T PP I O | PP IR B

Ratio

o
o
]

H
J
H
a3
N
I
.

-3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

<op/p, > (%)

23T =2 T 0 T2 3
TP n (PCA to beamline)



	Contents
	Page 1


